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RENE BEHGR BREE
3 i 1 R R .
R 4 R3 . R 4 R3 . R4 R3 =HicA
5 1R i 18R
Bl & L B OH 3, 845 3,871 -26 -0.7 2, 382 2, 283 99 4.3 62. 0 59. 0 3.0
X E L 25 24 1 4.2 23 24 -1 -4. 2 92.0 100. 0 -8.0
34 A 6 4 2 50. 0 6 4 2 50. 0 100. 0 100. 0
58 &= 8 4 4 100. 0 6 4 2 50. 0 75.0 100. 0 -25.0
i X 2 12 -10 -83.3 2 12 -10 -83.3 100. 0 100. 0
S X F 9 4 5 125.0 9 4 5 125.0 100.0 100. 0
2 2 L 326 304 22 7.2 267 267 81.9 87.8 -5.9
= 17 148 150 -2 -1.3 126 127 -1 -0.8 85. 1 84.7 0.4
= = 152 127 25 19.7 117 110 7 6. 4 77.0 86. 6 -9.6
B pi=| 19 22 -3 -13.6 19 24 -5 -20.8 100. 0 109. 1 -9.1
i & 7 5 2 40. 0 5 6 -1 -16.7 71.4 120.0 -48.6
z O - - - - -
7B & 1L 2, 397 2, 445 -48 -2.0 1,537 1,476 61 4.1 64. 1 60. 4 3.7
g A & 252 302 -50 -16.6 304 260 44 16.9 120. 6 86. 1 34.5
TEE 69 85 -16 -18.8 58 91 -33 -36.3 84. 1 107. 1 -23.0
BAH 39 32 7 21.9 64 14 50 357. 1 164. 1 43. 8 120. 3
BZEE 5 7 -2 -28.6 6 5 1 20.0 120.0 71.4 48. 6
EEREY 1 8 -7 -87.5 1 5 -4 -80. 0 100. 0 62. 5 37.5
EBARL 27 32 -5 -15.6 64 24 40 166. 7 237.0 75.0 162. 0
HIER L 25 27 -2 -7.4 19 28 -9 -32.1 76. 0 103. 7 -27.7
ZDfth 86 111 -25 -22.5 92 93 -1 -1.1 107.0 83.8 23.2
FEYME 676 582 94 16. 2 94 71 23 32. 4 13.9 12.2 1.7
SEER 15 11 4 36. 4 13 12 1 8.3 86. 7 109. 1 -22. 4
Y Bl AR 21 9 12 133.3 9 5 4 80. 0 42.9 55. 6 -12.7
HEnER 640 562 78 13.9 72 54 18 33.3 11.3 9.6 1.7
EERAE 1, 469 1,561 -92 -5.9 1,139 1,145 -6 -0.5 77.5 73. 4 4.1
U-o71=<KY 5 5 - 5 5 - 100. 0 - -
ER) 4 4 - 6 1 5 500. 0 150. 0 - -
EalE 45 26 19 73.1 36 8 28 350.0 80. 0 30. 8 49. 2
HERbl 93 97 —4 4.1 62 20 42 210.0 66. 7 20. 6 46. 1
EBamta o Ly 29 28 1 3.6 4 4 13.8 14. 3 -0.5
B ERFE A S L 3 15 -12 -80. 0 26 37 -11 -29.7 866. 7 246. 7 620. 0
BiFR oL 36 45 -9 -20. 0 19 12 7 58.3 52.8 26. 7 26. 1
A5lE 741 848 -107 -12.6 657 748 -91 -12.2 88.7 88. 2 0.5
Z Dt 513 502 11 2.2 324 315 9 2.9 63. 2 62. 7 0.5
M g 1L 371 297 74 24.9 195 172 23 13.4 52. 6 57.9 -5.3
H3 04 342 266 76 28. 6 172 143 29 20. 3 50. 3 53.8 -3.5
L7 8 9 12 -3 -25.0 9 7 2 28. 6 100. 0 58. 3 41.7
& & 18 17 1 5.9 14 21 -7 -33.3 77.8 123.5 -45. 7
T O fth 2 2 1 -1 -100. 0 50. 0 -50.0
B & 3L 54 74 -20 -27.0 63 73 -10 -13.7 116. 7 98. 6 18.1
B [ 4 -4 -100.0 1 2 -1 -50. 0 - 50. 0 -
H L D 54 70 -16 -22.9 62 71 -9 -12.7 114. 8 101. 4 13. 4
BHElHh LD 27 26 1 3.8 27 26 1 3.8 100. 0 100. 0
NRHLED 25 33 -8 -24. 2 29 39 -10 -25. 6 116. 0 118. 2 -2.2
Z Dt 2 11 -9 -81.8 6 6 300. 0 54.5 245.5
Z DD FIEIL 672 727 -55 -7.6 297 271 26 9.6 44, 2 37.3 6.9
SE R IESE 88 95 -7 -7.4 82 90 -8 -8.9 93.2 94. 7 -1.5
DHEPITHE 13 15 -2 -13.3 13 16 -3 -18. 8 100. 0 106. 7 -6.7
EFEEA 101 92 9 9.8 72 57 15 26. 3 71.3 62.0 9.3
RIHETEE 3 1 2 200. 0 4 4 - 133.3 133.3
BEEES - AFFTER 2 4 -2 -50. 0 2 4 -2 -50. 0 100. 0 100. 0
B 1 2 -1 -50. 0 1 2 -1 -50. 0 100. 0 100. 0
=R 403 438 -35 -8.0 75 52 23 44. 2 18. 6 11.9 6.7
T Dt 61 80 -19 -23.8 48 50 -2 -4.0 78. 7 62.5 16.2
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R4 R3 e g R4 R3 | ## | R4 R3 R R4 R3 e Teas
Bl & L L | 2,176 2,170 6 0.3 56.6] 56.1 0.5/ 1,507 1,590 -83] -5.2 122 144 -22| -15.3
X E L 23 24 -1 -4.2| 92.0[ 100.0[ -8.0 28 25 3] 12.0 6 4 2| 50.0
= A 6 4 2| 50.0| 100.0[ 100.0 7 4 3] 75.0 1 -1]-100. 0
5 % 6 4 2| 50.0l 75.0] 100.0| —25.0 6 5 I 20.0 1 1 -
i K 2 12 -10| -83.3[ 100.0| 100.0 2 11 -9 -81.8 2 -2|-100. 0
oA M 3T F 9 4 5| 125.0[ 100.0| 100.0 13 5 8| 160.0 5 1 4] 400. 0
M R L 267 268 -1 -0.4| 81.9] 88.2] -6.3 264 271 -7l 2.6 18 411 -23| -56.1
= 17 126 127 -1 -0.8| 85.1| 84.7 0.4 108 115 -7l 6.1 7 11 -4| -36.4
= = 117 111 6 5.4 77.0l 87.4| -10.4 132 126 6] 4.8 9 22|  -13| -59.1
& pi=| 19 24 -5 -20.8| 100.0f 109.1| -9.1 19 21 -2 -9.5 2 3 -1| -33.3
iy n& 5 6 -1| -16.7| 71.4] 120.0| -48.6 5 9 —4| -44.4 5 -5 -100. 0
z O - - - - -
A I U 1,379 1,377 2 0.1 57.5| 56.3 1.2 868 935 67| -7.2 60 64 -4| 6.3
B A B 226 231 -5 -2.2| 89.7| 76.5| 13.2 108 103 5 4.9 4 5 -1 -20.0
TEH 47 70 -23| -32.9[ 68.1| 82.4| -14.3 27 25 2 8.0 1 1 -

AH 49 14 35| 250.0 125.6] 43.8| 81.8 9 3 6| 200.0 1 1
BZEZE 5 5 100.0[ 71.4| 28.6 1 3 -2| —66.7 -
EEWRLY 1 5 -4 -80.0| 100.0| 62.5[ 37.5 1 4 -3] -75.0 -
EHBWL 28 20 8| 40.0| 103.7| 62.5| 41.2 12 7 5| 71.4 -
HIEFRL 18 28 -10| -35.7| 72.0] 103.7| -31.7 7 17 -10| -58.8 2 -2|-100. 0

ZDfh 78 89 -11| -12.4| 90.7| 80.2| 10.5 51 44 7| 15.9 2 2
FEYME 88 69 19 27.5| 13.0] 11.9 1.1 44 52 -8| -15.4 17 25 -8 -32.0
SEI R 13 11 2| 18.2| 86.7| 100.0| -13.3 10 8 2| 25.0 3 3 -
F—bNA& 8 5 3] 60.0] 38.1| 55.6] -17.5 4 9 -5| -55.6 4 8 -4 -50.0
HEnE&E 67 53 14| 26.4] 10.5 9.4 1.1 30 35 -5 -14.3 10 17 -7| -41.2
FERAE 1,065 1,077 -12|  -1.1] 72.5] 69.0 3.5 716 780 -64| -8.2 39 34 5| 14.7
Uof=<Y 5 5 -| 100.0 - - 4 4 - -
ER) 5 5 -| 125.0 - 5 1 4] 400.0 -
B5lE 32 7 25| 357.1| 7.1 26.9| 44.2 15 6 9] 150.0 -
HEnRbLy 53 19 34 178.9| 57.0| 19.6| 37.4 11 13 -2| -15.4 1 -1 -100. 0
EBanta o Ly 3 4 -1 -25.0[ 10.3[ 14.3] -4.0 1 1 - -
BB R5EHEA S L 2 11 -9] -81.8] 66.7 73.3] -6.6 1 -1[-100. 0 -
BiFRk oL 19 12 71 58.3| 52.8] 26.7| 26.1 3 6 -3] -50.0 -
A5lE 645 734 -89| -12.1| 87.0| 86.6| 0.4 508 568 -60 -10.6 31 25 6] 24.0

Z 0tk 301 290 11 3.8 58.7 57.8 0.9 169 185 -16| -8.6 8 8
M oAe L 160 163 -3 -1.8] 43.1| 54.9| -11.8 99 115 -16| -13.9 5 7 -2| -28.6
H -4 134 135 -1l -0.7| 39.2[ 50.8] -11.6 84 95| -11| -11.6 5 7 -2| —28.6
i1 | 9 7 2| 28.6| 100.0f 58.3| 41.7 6 5 1 20.0 -
] = 16 20 -4 -20.0| 88.9 117.6| -28.7 9 13 -4 -30.8 -
T O 1 1 50.0| 50.0 2 -2|-100. 0 -
B & 1L 62 71 -9 -12.7[ 114.8[ 95.9[ 18.9 47 53 -6 -11.3 7 4 3[ 75.0
B I 1 2 -1 -50.0 - 50.0 - 4 9 -5| -55.6 -
Hh L & 2 61 69 -8| -11.6| 113.0[ 98.6| 14.4 43 44 -1 2.3 7 4 3| 75.0
EBHElHh LD 27 26 1 3.8| 100.0| 100.0 22 25 -3] -12.0 6 2 4| 200.0
NARHLED 29 37 -8| -21.6| 116.0] 112.1 3.9 18 16 2| 12.5 1 2 -1| -50.0
T Dith 5 6 -1 -16.7| 250.0| 54.5| 195.5 3 3 -
Z DD FIEIL 285 267 18 6.7 42.4f 36.7 5.7 201 191 10 5.2 26 24 2 8.3
5 H B tEE 81 90 -9 -10.0| 92.0] 94.7| -2.7 75 85| -10| -11.8 7 8 -1| -12.5
DHERITHE 13 16 -3 -18.8| 100.0[ 106.7| -6.7 8 10 -2| —20.0 -
EEREA 67 55 12 21.8] 66.3] 59.8 6.5 40 32 8] 25.0 16 12 4] 33.3
RIHETEE 4 4 -| 133.3 133.3 3 3 - 1 1 -
BEREES - AFFTE 2 4 -2 -50.0[ 100.0| 100.0 3 2 1| 50.0 1 -1|-100. 0
BmE 1 2 -1 -50.0| 100.0[ 100.0 2 -2 -100. 0 1 -1]-100. 0

=B R 71 51 201 39.2| 17.6[ 11.6 6.0 38 30 8| 26.7 2 2
T Dih 46 49 -3 6.1 75.4f 61.3] 14.1 34 30 4 13.3 -




